Notes to teachers
Here are suggested answers following Holt’s “Life Science” textbook, ©2001. Table on page 188 is very brief. Need to get the students to THINK about the consequence. Organizer is on next page.

1) Overproduction
Definition


Produce far too many offspring. Good example: a fruit tree. How many fruit per year? How many seeds in each fruit? All to replace ONE tree!
Consequence? What happens because of overproduction? 

Have far more offspring than can survive. MOST will not make it.
2) Genetic Variation
Definition


Every offspring is a LITTE different. Rabbit may be a little browner, faster, hear a little better. Orange may be a brighter color, sweeter flavor.
Consequence? What happens because of genetic variation?


SOME of those differences give the organism an edge.
3) Struggle to Survive
Definition


Predators, herbivores are all consuming another organism’s offspring. 
Consequence? What happens because of the struggle to survive?


MOST do not survive long enough to reproduce. Each generation is a sieve for good genes to flow through. (River out of Eden: A Darwinian View of Life. Dawkins, Richard; 1995; Basic Books)
4) Successful reproduction
Definition


Having offspring (a new tree, new plant, new baby). Each organism alive (plant, bacteria, animal, fungus) knows that not one single ancestor died as an infant. Everyone survived long enough to reproduce. (Dawkins)
Consequence? What happens because of successful reproduction?


GENES get passed on to offspring.
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Consequence? What happens because there is a struggle to survive?

















